H & 0l & AHS B Ml A

230 =22
QO 2N =S ELNA 22 ES
51 4% =2 Zoies By SN
Za - 29(8) - HRAR - BaS of v G o HIDE2
2ol 11,640,282 6,276,157 5,364,125
= 3,500,000
Al 8,140,282
EAHEAESLANS 22 E 5 11,227,463 5,845,446 5,382,017
== 3,500,000
Al 7,727,463
) == =2 SHEs 8% 504,478 691,222 186,744
Bz 2 Al 504,478 665,722 A161,244
101 @124H| 51,154 49,470 1,684
M ORINZZ2NSE S 51,14 49,470 1,684
0 39 - At & JAIH =0
78,8302 x 102 +52|« 12 47,328
0 m=y) 250,0002! 10 2,500
[ YR22XF Al3lEE 1,3%6
O ne2y =y2
47,328,000 %1.8/100 852
O ¢tEE BE= 47,328,000 *1/100 474
201 fer23| 442,484 608,412 165,928
03 A= I 442,484 608,412 165,928
O Jesa0 g Ex 89
4,000,000 22| 8,000
O o123, 8A EE2S WA 69,200
O ZAH, & 3502 4,0000H~ 162 22,400
O dd s 100,000& *15JH* 162 24,000
O JI=S il 65,0002 x20JH* 163 20.800
O 2= RuEs NEN
200 %10,0000H 2,000
O Jlezel Mol :E 2t 79
100, 00024524 10| 5,000
mE BRI R
110,000 23| 122 2,640
0 28 - SRRHBHH#LS2
1653 92001 *23| x 123 3,644
O JI2d8Al =82 45,000
O Olelol ME&EA 40,000,000 *13] 40,000
O EERIIEA 2,500,000 23] 5,000
O I8 =8g 60,000, 000& *53] 300,000
O X=EtS A 9,000,000& %12l 9,000
202 04l 7,840 7,840
01 =LHA LI 7,840 7,840
OIS & HAl 82
80,0003 x4 x123] 3,840
OoEsd =8 f 88
20,0002 *10H *202 4,000
308 AFAIEHMSOIH 3,000 0 3,000




A Ssttlsz2
3 AU 2N =EISELNAZ2}HE TS
ool OS] % B2 D2 A (el mel)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
18 SI[2S0tet 4 A AS A 3,000 0 3,000
O o&sA, 8AI AS0HH 21
1,000,000 #32] 3,000
SHAC SHE A AL .2 7,743,514 2,473,7% 5,269,719
=S 3,500,000
Al 4,243,514
A& EH XI& 196,330 192,479 3,851
101 ©1AH| 156,364 152,513 3,851
M ORNZZ2NSE S 156,364 152,513 3,851
O J12tH 227X 18 140,409
O JlZs 78,8802 x4 H 261 82,351
O Fg+9 78,8802 x4 522! 16,408
O gaaesd
118,320 x4 H 42 x 12 22,718
O U224
14, 703 » 4 *20A1 2t 123 14,199
O gxt+=g 78,8803 x4 » 15 4,733
O] J12HM 224 400 2 15,955
O 2wz =H2
140,409, 000& *4.5/100 6.319
O 2Es =gz
140,409, 0002 *3.6/100 5,055
O Woyy =43
5,085,000& *12.81/100 648
O 1828 223
140,409, 0002 *1.8/100 2,528
O aEs 2uz
140,409,0002 *1/100 1,405
201 Let=23 | 3,820 3,820
2 s5=34l 3,820 3,820
0 2322 2 HAl 820
O XSXHAl 120,000 *1CH 120
O NUsx Atz 100,000 *1CH 100
O 3NeRE= 300,0002 *1CH*23 600
O xt&k - A9t 3,000
O J18 - 3¢ AR (RFU, FHIRX
b, 222H4]) 3,000
seH(ad) 3,000,000 «1CH 3,000
206 M=l 36,146 36, 146
01 MZH| 36,146 36, 146
O & -t 28 ABPMH] X 2 8,000
O HES 40,0002 55 200
O g2 = 30,0008 10523 600
O JIH 375 20,0003 205 400




A Ssttlsz2
33 AU 2N =EISELNAZ2}HE G
ol gUEe S%E gt AL .2EXH (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O &7 2H 15,0002 10074 *13] 1,500
O d=2g A=K
40,0002 #2CH*10 £ 42 3,200
O 222 2N 5,000& 100 £ 500
O 22& A 70,0003 * 107K 700
O VEE 2| 303 20,0002 *305 600
O 28I, =S 10,0002 *30H 300
O &I 2 3,700
O gE= 2,000 *5001*105 1,000
O =98 H4S 20,0002 x3004=25 1,200
O IS (a0l 2 95)
30,0003 %501 %105 1,500
O SOIH KHH-2 3,100
O RUEAl A3 20,0002 *10JH*35 600
O HAZE=20| Hol=
50,0002 x105+13] 500
O 20 20IE 2 105
100,000& %105 1,000
O 2#)| 2Y U 28R
100,000& %105 1,000
O =g 2 5,200
O 1= 70,0002 %105 700
O ZEH 10,0002 %158 1,500
O &8 22N 100,000& *102 1,000
O 20 zgax 200,000 x2)H*55 2,000
O S 2 2,550
O SHI| HiEel 60,0002 *20H 1,200
O =0 % 30,0002 +20H 600
O 24 00128 AFX
3,000 «250H 750
O &4 225 2 13,59
O 828 70,0002 x22t A% 12 1,680
O =tl= 10,0002 82« 123 960
O HIZEH 26,000 x21JH*62] 3,276
O getH 24,0002 *33)H*62] 4,752
O ®i=Et= 49,0002 x42r A% 12 2,352
O 43 16,0002 x32 122 576
2E AlE 2l 217,721 758,004 AB40,283
201 et 3| 217,721 189,570 28,151
01 At22t2l] 78,040 23,800 54,240
0 get+=EH| 59,800
O &JI14Hl EIIBA ===
6,000,000 12l 6,000




A 230=g2
B Alolo|2siNepEzUN A2 s
Ciel: BDIMOl TeIS FIE AL 2N (ol m2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O =2 =] oF &2 442
5,000,000& 23] 10,000
O JIH4Hl 8= &4
10,000,000 %13 10,000
O AN&2 FYotd &H
15,000,000 *13] 15,000
O H=s52 &) #22& 11,000,000& *13] 11,000
O SONAHIAAE B2IBA 248
550,0002 123 6,600
O 2stil=sl2 =7 Me =2
1,200,000 14 1,200
O erdzte| i 18,240
O CIEESZD|otM 22 TS
300,000 x2CH+ 123 7,200
O ot ate| 500,000& =123 6,000
O =22sLItN2A2|CHE
420,000 x1CH+ 123 5,040
02 E324H| 139,681 165,770 A26,089
O SAIJIA AP E 45,419
O ¢ - 22=D1(320RT)
1, 10021 #1502 *5 A| 2++85m *2CH*30/ 100 42,075
O 24223 (400Ha)
1, 100& x05 2 «8A| 2H+40m *1CH*10/100 3,344
O AIZ &l X2l 15,124
O 72 |X2eltl
1,500& %12, 165m°*50/100 9,124
O R8I |X2celtl 50,0003 *10CH 500
O 82| sXlztelyl 500,000 *3CH 1,500
O ¢gs szl 250,000& *43| 1,000
O A2 THE ¢ Uis2 sXZeld]
500,000 & %23 1,000
O Z&Xd 72yl
500,000 *x23| 1,000
O 201 ¥ B4y A2l
1,000,000 *12] 1,000
O &1 - Sl |FX2eltl 5,000
O &4yl A2l
300,000& *13l 300
O NMCCBH & &EE 2dB A2l
300,000& *43l 1,200
O &01a =tider sXl2eld|
500,000 & *23| 1,000
O S%E MCEH R Xl2teld]
2,000,000 14 2,000
O SAAIE sl
500,000& * 13l 500
O] - g 2 ABrMEH| RXl2eltl 17,050




A Ssttlsz2
33 AU 2N =EISELNAZ2}HE G
Ciel: BDIMOl TeIS FIE AL 2N (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O JtAZE2I 2 wH
1,000,000 %14 1,000
O 42 |sAlZabl 200,000 *2CH 400
O d=g SdH uA
1,000& %2, 000 & +2CH 4,000
O =4 & - 2==J1 MNI2(320RT 2CH)
12,5002 *2CH*320RT 8,000
O A% 9 W 24T SRB2Y
50,0002 = 17K 850
O X271, & KXl
100,000 * 13CH 1,300
O NSHIOAIAE sXI2t2ld(&I], I,
agh) 500,000 *12]+35 1,500
OO - 2308 Al |A22bl 31,800
O 9% RUAEE FAE=+ /&
22,000,000 12} 22,000
O Z%)| 2XZe/dl(RY 2 48)
300,000 +55 1,500
O U -2zd & g2
100,000 * 154 1,500
O U - AZHE AL SA22lH
100,000 * 10CH 1,000
O A3 U0 SAl2cd]
500,000& 22 1,000
Ol - A3HE AC/OC 28 T2
150,000 »32CH 4,800
O A2 34 =A122l 25,288
O Reld 4 2,000 +867 m' 22| 3,468
O M==x 4 8,000& x250 M 22| 4,000
O 2= g4 1,000,000 42 4,000
O2® U BTy A
2,000 +800m 22| 3,200
O 29, 24 2Kt AlA
3,000& *1,200HK 3,600
O SH& FA(EIY, JHHE, SULIR)
2,000 %1,860m" 12| 3,720
O =32 gy &= 560,000 *62| 3,300
ANE 2otz 209,463 123,312 86,151
201 =3 119,083 102,932 16,151
01 At22t2l] 31,210 14,410 16,800
0 get+=EH| 9,850
O &€l EIIBA ===
1,500,000 %13 1,500
O 22| BN 448
500,000& *12] 500
O SOIAHIAIAE B2IBY 242
400,000 <123 4,800




AN Zstiilss2t
M AN ERERESELNN 2524
CHlr SUFOI DO 9B AlE. 2N M)
SA - A - S9I(E) - HIRAY - BES A 2
O SAEX 7Y 25,0003 302 A 750
O MeDISE ?(75e)
1,3002 +1,000& 1,300
O #HEFANRES 78
50,0002 10523 1,000
O =gl 1,440
O Sstala g8 =4
8,000& »2& 902 1,440
O gx= 3,120
O & Xz 40,0003 *2CH* 123 960
O =SAD| Xtz 180,000& «12& 2,160
[ ot 2te| e 16,800
O Agordae| & 300,000& * 128 3,600
O dJ|erH2te|CH 750,000 122 9,000
O s2olorE el
350,000& * 123 4,200
02 2324l 87,873 88,522 AB49
03322 2 WAl 56,478
O &Jl=z 37,878
== 8,320 +250kwh+ 122 24,960
HHAZ(Z, IIS8)
101.8& %9, 000kwh*5E 4,581
HAZ(HE) 132.2&+9,000kwh*32 3,570
HHE(HS) 13, 42449, 000k +42 4,767
O aslaE ABR
1,500 +200m" 122 3,600
O SADIA AL BE 15,000
(ot EDI) 1,000,000 «6& 6,000
HeE(SEDI) 1,500,000 «6& 9,000
L A2 & HI= Xt 31,39%
O dE szl 1,500& %2,830m" 4,245
O g9 A= 250,000 %52 1,250
O M= Ea 8,000 +100m* 22| 1,600
O Zo® BA(EIY, JHHE, 2UOIER)
2,000& *1,000m" *22] 4,000
O 2 28 o 2,500&2,000m" 5,000
O S& - ZEAI4E |X2el
500,000 *42] 2,000
O 9 - ek o A8AH| |2t
1,000, 000& *22] 2,000
O otdze|Xt §aldl(AY, /IES)
150,000 *25 300
O 3¢d RUAME |RX2=
11,000,000 x 14! 11,000
202 O] 2,800 2,800 0




A Ssttlsz2
33 AU 2N =EISELNAZ2}HE G
CHlr SUFOI DO 9B AlE. 2N (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 2,800 2,800 0
O =ste2 29 g2 A
20,0002 12 %1002 2,000
O AL 28 g2FA
20,0003 » 1 »40! 800
206 M=l 17,580 17,580
01 MHZHI 17,580 17,580
O & - e o A—AH] T+ 4,500
O Aldate] A28
100,000 x105+33] 3,000
O 2=J| 24 15,0002 * 1004 1,500
O &I 2 2,700
O dos 2,000 *5001*105 1,000
O =9 H4S 20,0002 <2004=25 800
O dIIRS(elol 2 95)
30,0003 *5IH+65 900
O SOOIA =&
70,000 20512 1,400
O =g 2 100,000& 55+23] 1,000
0 SN F 750
O 24 010128 AFX
3,000 +250H 750
O & 4225 728 7,230
O 828 70,000 x28 Ax 122 1,680
O UeH 24,0003 20 *33] 1,440
O si=e= 49,0003 x32r A 12 1,764
O fd3eH 16,0002 «32* 12 576
O Stls 10,0002 x5 12 600
O HI&EH 26,0002 157 +33] 1,170
401 AIEHIX SO 70,000 0 70,000
01 AlZH| 70,000 0 70,000
O =atai2 =& HEH At
70,000,000 * 14! 70,000
Zoto=sl 2 /2L (HEALY) 7,000,000 1,400,000 5,600,000
[ 3,500,000
Al 3,500,000
401 AlEHIZL SO 7,000,000 1,400,000 5,600,000
== 3,500,000
Al 3,500,000
01 Al&HI 6,990,000 1,400,000 5,590,000
O =st=szl2 222 A
6,990, 000,000 *14] 6,990,000
= 3,500,000
Al 3,490,000




A Ssttlsz2
33 AU 2N =EISELNAZ2}HE G
CHlr SUFOI DO 9B AlE. 2N (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 10,000 0 10,000
O 2stoli=3i2 cI22E At Al R0
10,000,000 » 14 10,000
clZEE A HE AR S 01d 120,000 120,000
201 Zet=3h] 80,000 80,000
01 AtR2t2|HI 80,000 80,000
0 AFS4 OIA 60,000
O ARA 14 40,000,000& *14] 40,000
O 21, D=3 1A 20,000,000& * 14| 20,000
O =382 30 S
20,000,000 * 14 20,000
401 AlZHIZ SO 40,000 40,000
01 A28l 40,000 40,000
O AIR& EX 40,000
O 0ld AtRa 4X 10,000,000 * 14! 10,000
O i2aa &1 10,000,000& » 14 10,000
O 23 2a&10 & JIe 24
20,000,000 x 14 20,000
ANgtsd 29 2,979,471 2,680,429 299,042
AEol=e 22l 2,709,141 2,090,349 618,792
201 et 3| 9,300 9,300 0
01 At22t2l] 9,300 9,300 0
O 2g+¢ 9,300
O Algllset 28923 A2
70,0002 102 +33] 2,100
O A=t ARSA2Y dEd =2
400,000 6 H *32] 7,200
202 04| 4,960 4,960
01 =LHOLI 4,960 4,960
0 39 &8d & ZAH U2
20,0003 x4 »203] 1,600
O o=Y MIHEA 39 ws
80,0003 x 12 2 1,920
O NEHEXN =02 b=
20,0002 6 122 1,440
301 22N 2,689,931 2,048,590 641,341
Rzt - 2SFSEd=S 2,689,931 2,048,590 641,341
O el 2,358,000
O tis=¢ 325,680
X2 XH(Eel) 1,650,0002 x3& » 122 59,400
- REXHAEA)
1,100,000 x2&* 122 26,400
otF, Ediol(gel)
1,230,000& x4E 12 59,040




2A: 230z
M ACIQEIN=EAESEFELULNYG =32 H S}
CHelr A=t 29 (S &M
SA - B S (3H) - MISAY - B2 Ofl by G o HDE2
orzt EdioI(AEAH)
820,000 x3 » 12& 29,520
o], orpere
1,050,000 x5 H « 122 63,000
BE=XE, OFRXF, HRE(A0l)
1,100,000& »4H « 12& 52,800
BEEXE, QPRI HRF(AEAH)
740,000& x4« 12& 35,520
O &G 28,140
XI& XHA Q! 150,000 +x3H 128 5,400
INEPUESEESED!
100,000&+x2H x 128 2,400
orzt Egdlold(-el)
120,000& +4H x 128 5,760
ofat Eglold(AEAH)
80,0003 x3H 122 2,880
o), AP EE 75,0002 x5 128 4,500
BT}, OFRX}, CHREH(AO)
90,000 x4« 12& 4,320
BHEX} LR}, SR A (A EAL)
60,0003 x4 122 2,880
O dgs= 1,736,280
21 (A) 1,050,000& 79 x 12& 995,400
&2 (B) 980,000 x63&H x 128 740,880
O BT SoiCial 2
100,000 * 167 H *x23| 33,400
O #AZY Sl &g
100,000 167 P *x53| 83,500
O AIRIOIZE Zol HAAET} SR
400,000& *10E€ * 103l 40,000
O ANEglsd 2H EEHAE 0=
3,000,000 *3H%103] 90,000
O AdAlH 2slotct - sHatct AD|(£=Al)Z2
o CHAEA 30,000& *140H x53| 21,000
[ 2494 331,931
O ANEosY 200t= S23
1,000, 000& *403] 40,000
O tl=o2tuinl 294
800,000& 43| +6IH & 19,200
O &= HAEIY &I}
10,000,000& *23| 20,000
(ON: ES=ami==—teli-]|
10,000,000 & *33| 30,000
O AEAHM=E =33
6,000,000& x2JH &+ 12,000
O o= 4=&3
2,000,000 & *3JH ¢+ 6,000
O ANgtsd 20 E2= & 35,000




A Ssttlsz2
M A0l 2SN EEUN A 25 E A3
Selr A=y 24 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=0 70&+5,00001 %102 3,500
ZAH 8003 +50001* 102 4,000
BEA 2,300& +5000K* 102 11,500
S 100,000& 100K+ 102 10,000
g8 &8¢ 300& *2,0000H* 102 6,000
O Lot ==l 300,000 *4CH+53] 6.000
O 21 #=2lbl 300,00024 %105 3,000
O g2l MOILE EItdl 300,000 *32] 900
O ot B 500,00021%53] 52 12,500
O o= g & SA 500,000& *102] 5,000
O tlstd &=l 30,000
Ol=tt AREa ==y
600,000 %15 9,000
ELSENETLI =SS = L]
360,000 *60 21,000
O AlElsE AIRYE ARES 7Y
50,0002 51 Et« 122 3,000
O A=Y AIRA HIAMRIII| =2l
200,000 x35+32] 1,800
O Az S et
2,500,000& 102 25,000
O Aglls 3 SAMS
8,000 x3202 +53] 12,800
O Aglilss 2AMS
4,000 x154H *43|x 12 29,568
O Atz 28 ot
5,000,000& 12} 5,000
O ANl 1828 23
1,953,480,000& *1.8% 35,163
308 AFAIEHMSOIE 4,950 4,950
18 SISt AS A 4,950 4,950
O Agdsd 301 & A8 82 218
550,000 <92 4,950
Agtlsd 3¢ X 270,330 590,080 A319,750
301 EtE NS 264,280 590,080 A\325,800
11 dALEEIXIE S 4,280 9,080 /4,800
O MY 2 AREHA =4 M3
8,000 *40& %103 3,200
O Algdsg M2 X2
60,0002 62 +32] 1,080
Rzt - 2SFsS2Eds 260,000 581,000 A321,000
0 sgsas 40,000,000& %12 40,000
O Jt=sS4= 40,000,000& *12] 40,000
0 sEsas 40,000,000 *13] 40,000
O Algoi= OIEIU 2ME
30,000,000& =23 60,000




A Ssttlsz2
33 AU 2N =EISHLNAZ2}HE TS
Selr A=y 24 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O AMes" =288
40,000,000& »23] 80,000
308 AXIHSO0IA 6,050 6,050
18 SIS0t AS A 6,050 6,050
0 sgsos 2% 2oz
550,000& *112] 6,050
dF2IIHI(2eH0=32) 412,819 430,711 A17,892
el 2| 180,950 203,062 N22,112
olA2IHI(Z3t0ll=3l2) 180,950 203,062 A22,112
101 @124H| 175,198 197,352 N22, 154
01 &2 98,217 121,033 N22,816
O =22+ 98,217
O AteI22+¢
12,5312« 11 +50A 2+ 123 82,705
O Jg2e=8g 100,726 x11E 14 16,512
02 JIEtAE = 26,378 25,936 442
0 202249 26,378
O AeIRRag
12,5313 +3E+50A1 2t 123 22,556
O g2+ 72)
90,9853 x3& * 142 3,822
03 SR (RINHA) 222+ 50,603 50,383 220
0 SRA224 U2Y 50,123
O Jlzs 2,160,6802x1&~12& 25,929
O ZHsAl 140,000& x 12+ 123 1,680
O AL x| 30,0002 1 x 122 360
O J1g &0i=2 2,160,680 «1& *4E 8,643
O &2 d0is 1,296,4003 x1H 23] 2,593
O zl=2=2=H
15,5073 x 18 *20A[ 2+ 122 3,722
O g4y
124,098 x 1B 42«12 5,955
O gXtst 244
82,7062 x1&»15& 1,241
O 2RI 2T S 480
O JIet Jt= 20,0002 *x28 x 122 480
04 HSRESS 5,752 5,710 42
4 BRA(RIHA)22N HEERES S 5,752 5,710 42
O SRM22X IEEE R8s
50,603,000& *1.8/100 N
O SRA224 MEE FES
50,603,000& *1/100 507
0O sRA22N R0sHs FE=S
50,603, 000& *4.5/100 2,218




A 230=g2
M B2 (2510123R)
ohel: oI 23| (SH &)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
0 ILN22N LS 223
50,603,000&*3.6/100 1,822
O SRAZZ2X IIRLEE 23
1,822,000&%12.81/100 234
234 231,869 227,649 4,220
Jl2dul(2su=32) 231,869 227,649 4,220
201 B2 AL| 214,709 211,129 3,580
01 ArR22eltl 70,710 72,300 21,590
[0 pt===| 17,790
O =MEX 7 30,0003 *100t A 3,000
O EH=321, &EDl, Al 2
50,0002 35 +43] 600
O 20t S MEH 90,000& 53| 450
O MeDIsE R(75¢)
1,300&+1,900& 2,470
O 23 3oN7 =
15,0002 x20E5*33| 900
OvE & EEX =
15,0003 x65+ 128 900
O dIANRES 712
40,0003 *105+102! 4,000
O #HIARIDI| A28 72
300,000& *73] 2,100
O &M 22 & 24 ot =5 M
15&*5021+3,000% 2,250
Od. 2)| 228 7Y
20,000& 74 283 1,120
[ Xtz 5,520
O 30| etz 40,0002 +4CH*12& 1,920
O SAD| itz 300,000& *1CH*12& 3,600
O A W= 1,350
O Z0rEd & Zoa& Agts M= 2
CHel A=~ 100,000 x2Z 200
O 33712 Yttt us
100,000 *2H 200
ST 2|kt M2I = U=
100,000& *2H 200
O A& s +=2=2(&I], JIA, JtA, &2
Jl, IE2, 20U) 150,000& %53 750
O 28+ 21,690
O ¢ - =AY 21,690
S| 30,000& *1H+247 7,410
Y| 60,0002 x2Z *119 14,280
O =2l 24,360
O tl=3l& 3, &AL, Al =&
8,000& x15% 80 9,600




2A:

Estol=s2

M #ZYRAPH|(20=a2t)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 20 &xl & 8,000 152 +802 3,200
Otz 29 gex
8,000 x3&+85& 2,040
O Ald2te] ge=d
8,0002x8 +85! 5,440
O 2cl ge=d 8,0002 62 +85 4,080
2 5234l 143,999 138,829 5,170
O 2323 % HMAl 143,999
O R¥ER= 6,236
teH 4302 *4,5005 1,935
sS|e# 2,530&+1,700S 4,301
O o4l AlZs 250,000& 122 3,000
O 2stii=slat MI|= 116,163
IR 7, 2203 »600kwh 122 51,984
dHE(S, JH2)
107 .32 %40, 000kwh*5 21,460
HHZ(01S) 137. 72 %50, 000kwh*3 20,655
HAZ(AHS) 137.93 %40, 000kwh*4 3 22,064
O dot=k MEE
1,500 #450m* x 123 8,100
O &s=22still=3/2HEs He|
5,000,000& 12} 5,000
O st=2sttlza2Hes HRESXE
eielfal 1,000,000& %12 1,000
O ordze|Xt EaldI(MD], A, &S,
=¥, S, 20) 150,000 65 900
O Alelths &Iz 300,000 * 122 3,600
202 04l 11,760 11,760
01 =LHA LI 11,760 11,760
0 EASS0I 80,0002 x10H+7 5,600
O d= 2stti=sl2 Hgtslel &4
80,0002 x5EH *x2 2 +33] 2,400
O 20, =g, S8, g2z
80,0002 x3E *43] 960
0 M2 230232 2Fne 1248 2
A8 80,0002 x5 73] 2,800
203 HR=4AY] 3,600 3,560 40
02 3t R F&| 600 560 40
O HBADIAE 40,000& *15H 600
M FA2ELRFAI 3,000 3,000 0
O =3tszl2 250,000 * 122 3,000
204 2Rt AH 1,800 1,200 600
01 MG HI A HH] 1,800 1,200 600
O =sti==12 150,000& « 12 1,800




